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Four alternatives are given for each of the following questions /

incomplete statements. Only one of them is correct or most

appropriate. Choose the correct alternative and write the complete

answer along with its letter of alphabet. 4x1=4

1.

Choose the appropriate question tag for the statement :
Nirmala tries to get good marks in the exam, ..........

(A) does she ? . (B) was she ?

(C) doesn’t she? (D} didn't she ?

Read the given conversation and choose the language function

for the underlined sentence :
Mahesh : Hi, good morning, how are you ?
Suresh : Hello, I'm not feeling well.

Mahesh : I'm sorry. Shall I drop you to the hospital ?

Suresh : No thanks. | will.
(A) Agreeing

(B) Offering help

(C) Requesting

(D)  Seeking direction
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\

Read the given conversation and fill in the blank choosing the

most appropriate words : 5

2y

Y
¥y

Chandan : Hey Sneha, have you missed the bus ?

Sneha . Yes. I had gone to the bus station at 10:30 AM

but the bus had left at 10:15 AM.

Chandan : If you had gone to the bus station at 10:00 AM

YOU cvmsiniinisnins missed the bus.

(A)  will have - (B} would have
(C}  shall have 'v

Read the following and choose the infinitive :

(D) wouldn’t have

Mahesh was watching cricket match on TV. Suddenly he heard a

noise from outside. He went outside to see what had happened.

(A)  was (B) went

(C) tosee. (D) heard

[ Turn over
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II. Do as directed : ' 12x1=12

5. Which one of the following words has two syllables ?

free, neat, politics, nature

6. Combine the word in Column-A with its collocative word in

_E_ Column-B :
E ‘A, ‘B9
= Book © [ care, teacher, bank, pain |

7. Fill in the blank using the correct article :

Rajeshis ..ccoovviiiiiiinnnins NCC student.

8. FKill in the blank using suitable linker :

Suresh comes to school early ......cco.cooovivinnnis his friend

doesn’t.
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9. Fill in the blank with appropriate preposition :

Sudha is working ........iceeeiiiiiiinnns a company.

10. Fill in the blank with appropriate tense form of the verb given in

brackets :

regularly.
11+ Yentify the part of speech of the underlined word :
The stories are told interestingly.

12. Write the correct form of the word given in brackets :

The physical education teacher stressed the ............ { important)

of physical exercises.

[ Turn over
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13.

14.

15.

16.

Use the word ‘pay’ as verb in a sentence.

Change into comparative degree :

Chandan is the tallest boy in the class.

Change into passive voice :

They are purchasing a car.

Read the following conversation and change the underlined

sentence into reported speech :

Pavithra ;. Hello Kusuma, how are you ?

Kusuma : Hi, Iam not feeling well.

Kusuma told Pavillira swsaswssmssvsssisis 5
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III.

(i

2

The following paragraph has two errors. Edit the paragraph and

rewrite it in the answer book :

17.

1x2=2

Narendra pass the entrance exam in the first division. He joined

Missionary College but sudden he changed the college.

a)  Verbal mistake to be corrected

b)  Adverbial mistake to be corrected.

Answer the following questions in 2 - 3 sentences each :

18.

19.

20.

7x2=14

Why did Anant and his parents come to Bombay ?

How does the writer say the scientists are the most practical

AC)

people in the world ?
(Ol

How did Dr. Ambedkar and Mahatma Gandhi try to wipe out

caste discrimination from India ?

[ Turn over



3 [@® RF(A}/100/3320 | 8

S1-K

21. Why did the old man Don Anselmo refuse to take extra money ?
2. Why does the poet say that he will be in a solitary confinement ?
2. Why had Patil the Sub-inspector come to Mohan’s house ?
OR
What were the hardships faced by Dicky Dolma in the early
days ? k

24, How do you say that Hanif is an introvert ?

OR

How did Wangjia react to the first monster ?
Answer the following questions in 5 - 6 sentences each: 2x3 =6

25. Physical disability is no barrier to success. How do you

substantiate this with Satish Gujral’s life ?

26. Describe the physical appearance of the Jazz player.
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VI. Read the following extracts and answer the questions that follow :

i

27.

28.

29.

4x3=12

“I'll make you the ‘laughing stock’ of your school.”
oEs
a) Who is the T here ? }

[

b) What does laughing stock mean ?

c) Why did he say so ?

“There are limits to patience. Sir.”

a) Who made this statement ?

b) . Why did he say so ?

c¢) When was he said ?

“Please help me to take her to a hospital.”

a) Who does ‘me’ refer to ?

b) What had happened to her ?
c) What was the result of seeking help ?

[ Turn over
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30. “We were crowded in the cabin not a

Soul would dare to sleep.”

a) Who were crowded in the cabin ?
b) Why were they not ready to sleep ?

c)  What had happened to them ?

- VII. Given below is a profile. Write a paragraph using the clues given

below : 1x3=3
3L Mr. Anand
Place and date of birth : Kodagu, 26th November, 1993
=
= Qualification : B.E., Mechanical
=
Profession ; Manager at a private company
Family Wife and a son
L. [ojeseas) . -
Hobbies : Writing short stories

Reasons for popularity : Friendly, helps the poor people.
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32. An old lady becomes blind — calls a doctor — agrees to pay fees
if cured — doctor comes daily — starts stealing furniture daily —

at last cures her — demands his fees — lady refuses to pay —

cure is not complete — she can’t see her furniture — doctor feels

ashamed.

IX. Study the picture given below :

33, Write a description or an account of what the picture suggests to

you in a paragraph.

[ Turn over
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I

X

Alternative question for Visually impaired candidates only.
( In lieu of Q. No. 33)

Use the following phrasal verbs in sentences of your own :

1x3=3
a) give up
b) keep on
c) take over.
Quote from memory : 1x4=4

Itisenthroned ............cooveviiiiiiiiiiiiieieeeeees

OR



3 [® RF(A)/100/3320 | 13 [CCERF ] 31-E

XI. Read the following passage and answer the questions that follow :

3s.

1x4=4(2x2)

Narendranath was born in 1863. He was the son of Vishwanath
Datta, a well known lawyer of Calcutta and Bhuvaneshwari Devi.
Vishwanath was known for charity and was respected by
everyone. Bhuvaneshwari Devi was a pious lady and a good
storyteller tco. Naren learned the Epics and Puranas from his
mother. He also inherited her memory among the other

qualites.

Narendranath was an all rounder. He could sing well. He was
good at sports and had a ready wit. He liked to meditate. He
would get lost in his thoughts about God and for a time he

would not see or feel anything around him.

a) What examples in the passage tell you that Narendranath

was an all rounder ?

b) What qualities did Narendranath inherit from his mother ?

[ Turn over
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XII. Answer the following question in about 8 - 10 sentences :

1x4=4

36, Howdo you say that the poet’s grandmother was genius ?

OR

How does the poet wish to praise the mother India ?

(REER

OR

How does the poet Marina de Bellagenta explain the patience

and self assertion of the land ?
XIII. Write an essay on any one of the following : 1x4=4

37. a) Water poliution

b) Importance of yoga

c) Internet and its uses.
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XIV. Write a letter using the information given below : 1x5=65

38. Imagine you are Suhas / Saritha studying in Government High

School, Narayanapura.

Write a letter to your -father requesting him to send you

[

examination fees.

= OR

Write a letter to the Municipal Officer to provide drinking wager

facility in your area.
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General Instructions to the Candidate :
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2. This question paper consists of objective and subjective types of
38 questions.
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T

PART - A
{ PHYSICS )

Four alternatives are given for each of the following questions /

incomplete statements. Choose the correct alternative and write

the complete answer along with its letter of alphabet. 4x1=4
1. The device used to measure the rate of current in a circuit is
(A) Ammeter (B) Voltmeter

(Cy  Galvanometer (D) Battery

2 Observe the given figure. Identify the eye defect indicated in this -

figure.

T
e
Vv

1

>

(A) Presbyopia (B) Hypermetropia

(C) Myopia [Cf (D) Cataract

3 A light ray enters to rarer medium from a denser medium. Then

the speed of that light ray
(A) decreases and bends towards the normal

(B) increases and bends away from the normal

(C) decreases and bends away from the normal

(D) increases and bends towards the normal
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4. The inner wall of the solar cooker is painted black. Because

black colour

(A) reflects light

(B) converges solar rays
(C) - prevents from rusting

(D) absorbs more heat

II. Answer the following questions : 2x1=2
S 5. Write the symbols of the following components used in an
E electric circuit.
—_—
E i) Rheostat
— ;
= i) Wires crossing without joining
6. What does the thumb indicate in the right hand thumb rule ?
III. Answer the following questions : . 2x2=4
7. Light enters from air to benzene having refractive index 1-50.

Calculate the speed of light in benzene,,

( Speed of light in air: 3 x 10% ms™ 1)

OR &
=
A concave lens has focal length of 12 cm. At what distance

should the object from the lens be placed so that it forms an

image at 9 cm from the lens ?

[ Turn over



5 [ @ RF(A)/100/3330]. 4 CCE RF 83-E

8."

Name the major constituent c¢.” biogas and write the properties of

biogas.

OR

List the hazards of nuclear power generation.

IV. Answer the following questions : o 3x3=9

9.

10,

State Ohm’s law. On which factors does the resistance of a

conductor depend ? Mention the SI unit of electric power.

OR

State Joule’s law of heating. How is fuse connected in the
circuits ? Name the metal used in the filament and the gas filled
in electric bulb.

The resistors Rl, R2 and R3 have the values 10 Q, 20 Q and

60 Q respectively, which have been parallelly connected to a

battery of 24 V in an electric circuit. Then calculate the

following :

Bibesy
i) The current flowing through each resistor
ii). - The total current in the circuit

iiij The total resistance of the circuit.
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=

<

1.

11. Draw the ray diagram for the image formation in a convex lens

when the object is placed beyond 2F,. Mention the position and

nature of the image formed.

[ F, : Principal focus of the lens 1

Answer the following question : 1x4=4"

12. a) What is solenoid ? Write the properties of the magnetic

field lines formed around a current carrying solenoid.

b)  What is alternating current ? Electric appliances having

" metallic body are connected to earth wire, why ?

Answer the following question : 1x5=5

13, a) How does. rainbow form in the nature ? Explain. Mention

the colour of the light that bends the most and that bends

the least.

b) How does the eye lens accommodate to see the distant

objects and nearby objects ? Explain.
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PART -B

( CHEMISTRY )

VII. Four alternatives are given for each of the following questions /
incomplete statements. Choose the correct alternative and write

the complete answer along with its letter of alphabet. 2x1=2

14. The reactants that exchange ions by reacting with each other

and form a precipitate among the following are

() BaCl, and Na, SO,
(B) Al,O, and HCl

(C) NaOHand H,S0O,

(D) Na,O and CO,

15. ‘Among X + aY 16; 10Z 20 the elements having zero valency
are
[2,8,10 are atomic numbers of elements |

4 16
(A)  ,X* and .Y

16 20
B) Gv®and  z

X4 and ZQO

© 10

4 16 20
2X " -SY- and 1()Z
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VIII. Answer the following quesﬁons 3 4x1=4

H

16.

The general formula of cycloalkanes is CnHzn and its first

member is cyclopropane ( C,Hg ) Write the molecular formula

and structural arrangement of the fourth member of this

homologous series.

17. Packets of chips are flushed with nitrogen gas. Why ?

18. An iron nail is dropped into a test tube having copper sulphate
-solution. The iron nail gradually turns to brownish colour.
Why ?

19. What is hydrogenation ?

Answer the following questions : 3x2=6

20.  Draw the diagram of arrangement of apparatus to show that
acid solution in water conducts electricity and label dilute HCL
solution.

21. “Calcium oxide and carbon dioxide are produced on heating
calcium carbonate.” Write the balanced chemical equation for
this reaction. Mention the type of this'chemical reaction.

22. Draw the diagram of arrangement of apparatus to show the

Answer the following questions :

23.

action of steam on a metal.

ol
7

i

2

3x3=9

a) Depict the formation of magnesium chloride with the help
of electron dot structure.

[ Turn over
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b) Hydrogen gas is not liberated when a metal like zinc reacts

with nitric acid. Why ?

from their ores ? Explain.

24. a) Observe the given part of the modern periodic table and

answer the following questions :

=
= Groups —
= 1 2 13 17
= Periods |
2 — Be — —
3 Na Mg Al Cl
4 = Ca s s
i) Which element is more electropositive ? Why ?
i) Atoms of which element have minimum atomic

radius ? Why ?

b) Mention the period and group number of the ¢lement that

has atomic number 19.
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25. Name the salts used in the following situations and write their

molecular formula :

a)
b)

<

a)

To remove permanent hardness of water.

To make drinking water free from germs.

To support fractured bones in their right position.
OR

The pH values of four solutions are given in the below

table. Classify these into acidic and basic solutions :

Solution pH Value
e 5
f 13
g 9
h 2
b} Name the antacid used to neutralise excess\of acid in the
stomach.
XI. Answer the following question : . % 1x4=4
26. a) How will ethanol be oxidised ?
b) Explain the cleaning action of soaps.

[ Turn over
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PART -C

( BIOLOGY )

XII. Four alternatives are given for each of the following questions /
incomplete statements. Choose the correct alternative and write

the complete answer along with its letter of alphabet. 2x1=2

27. “A person immediately starts running soon after observing a
snake.” The correct transmission path of reflex impulse in this

situation is

(A) Receptor — Sensory neuron — Brain — Relay neuron —

Motor neuron — Effector

(B) Receptor — Sensory neuron — Spinal cord - Relay

neuron — Motor neuron — Effector

(C) Effector — Spinal cord — Sensory neuron — Relay

neuron — Motor neuron — Receptor

(D) Effector —» Motor neuron — Relay neuron — Brain —

Sensory neuron — Receptor




5 [ @ RF(A}/100/3330 | 11 CCE RF 83-E

28. . In humans, the testes are located outside the lower abdomen in

the scrotum because

(A) to protect testes from mechanical shocks

g (B) toincrease the production of sperms
=
E (C} to maintain the secretion of testosterone hormone
(D)  to maintain the temperature required for sperm
production.
XIII. Answer the following questions : 2x1=2

29. What is the role of abscisic acid in plants ?

30. Write two examples for the organisms that reproduce by binary
fission.

[ Turn over
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XIV. Answer the following questions : 3x2=6

31. Mention the tools used for tracing the evolutionary relationships

between the organisms.

32. ' Observe the given below figures :

Fig. (i) Fig. (ii)

a) Which figure indicates the massive amount of exchange of

gases ? Why ?

b) Name the parts X and Y. What is the function of the

part X?

33. Give an example for-a food chain of grassland ecosystem. If there

is an increase in the number of organisms in the second trophic -
o)

level, how does this affect on that food chain ?
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XV. Answer the following questions : 3x3=9

34.

35.

36.

What is pollinatidn ? What are the changes that occur in the

flower after pollination ?

Coal and petroleum ﬁroducts shouid be used judiciously. Why ?

Tall pea plant producing red flowers ( 7T RR ) is crossed with

short pea plant producing white flowers ( tt rr ).

i)

ii) Write the ratio of plants obtained in the F, generation by

crossing the plants of F, generation and name the

varieties of plants obtained.

OR

[ Turn over
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Analyse the situations given below. Answer the questions.

given :

Situation 1 : The number of green grasshoppers in a green zone
has been increasing from one generation to another

generation.

Situation 2 : The number of brown grasshoppers in the same

green zone has been reducing.

Here,

a) Where could genetic drift be happened more ? Why ?

b) How can natural selection be considered as an important

factor in organic evolution ?

XVI. Answer the following questions : 3 2x4=8

37.

Draw the diagram showing the structure of human brain. Label

the following parts :

i} Hypothalamus

i) Pons.
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38. Explain the digestion of food materials in stomach and small

intestine.

OR

TR
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I

Four choices are given for each of the following questions /
incomplete statements. Choose the correct ahswer and write the

complete answer along with its letter of alphabet. - 8x1=8

The first princely state to accept subsidiary alliance is

(A) Nawab of Awadh

(B) Nawab of Junagadh

(C) Nizam of Hyderabad

(D) Sindhia of Gwalior

Goa was merged into Indian Union in

(A) 1951 (B) 1961

€ 1953 h (D) 1963
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LT

Dr. D. M. Nanjundappa Committee was established with the

objective to

(A) check communalism

(B) check regionalism

(C) check illiteracy

(D) check corruption

“Truely the whole mankind is one” was declared by

(A) Pampa

(B) Ranna

(C) Janna

(D) Ponna

| Turn over
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QUL

5. Rajesh purchased a TV- worth Rs. Twenty-five Thousand. It

broke down within two days. The TV company did not consider

his complaint. He has to file a case in

(&) District Consumer Forum

(B) The State Consumer Commission

- (C) The National Consumer Commission

(D) Taluk Consumer Forum

The best example for the conventional energy source among the

following is

(A) Wind energy

(B) Tidal energy

(C) Solar energy

(D) Natural gas



II.

Answer the following questions in a sentence each :

7 (@ RF(A)/100/3353 ] 5 . 85.E

NITI Aayog is headed by the Prime Minister but the day-to-day

administration is looked after by

(A) President

(B) - Secretary
(C) Deputy Prime Minister
(D) Vice-Chairman

The Child Labour Prohibition and Control Act was enacted in the

year
(A) 1988 (B) 1994
(C) 1986 (D) 2006

Why did Wellesley introduce Subsidiary Alliance ?

[ Turn over
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LT

III.

10.

11.

12.

i3.

14,

15.

16.

What was the immediate cause for the First World War ?
What is Communalism ?

What is meant by Prejudice ?

What is Kala Baisakhi ?
Why are mangrove forests of Gangetic Delta called Sundarbans ?

What is deficit budget ?

Banks collect service charges from which type of bank

accounts ?

Answer the following questions in two to four sentences / points

each : ' 8x2=16

17.

What measures are taken by the Indian Government to remove

illiteracy ?

OR

What measures are taken to check terrorism in India ?
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IHEMH

19.

20.

21.

22,

23.

24.

“Social stratification is not commonly observed in all countries.”

Explain.

Explain the nature of Riots.

“The British used Indian. Council Act of 1909 to divide and rule

India.” Justify.

What were the effects of the First War of Indian Independence ?

Irrigation is very essential in Indid. Why ?

The Eastern Coast of India is more prone to cyclones. Why ?

Which factors led to the Green Revolution ?

What are the main objectives of Consumer Protection Act ?

[ Turn over
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Iv.

LT

Answer the following questions in six sentences / points each :

25.

26.

27.

- 28.

29.

' world.

9x3=27

Krishnaraja Wodiyar IV ‘was much interested in spreading

education among his people. Justify.

State the results of the battle of Buxar.

What were the aims of Prarthana Samaj ?

OR

What were the demands put forward by the moderates to the

British Government ?

Explain the role of IMF in solving the economic problems of the

List out the problems faced by the unorganised sector workers.
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30.

31.

32.

33.

Soil erosion leads to many problems. Justify.

List out the major ports that are found in Eastern Coast of

India.

OR

List out the preventive measures for earthquakes.

What is the main role of women self-help groups in rural area ?
" OR

Which are the main types of non-tax revenues collected by

Central Government ?
Mention the characteristics of an entrepreneur.

OR

Banks provide a lot of services to its consumers. Explain.

[ Turn over
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V.

Answer the following questions in about eight sentencés | points

each : - 4%x4=16

34.

35.

36.

37.

The integration of Kashmir with Indian Union is unique

compared to other provinces. How ?

Relationship between India and China has been strained in

these days. Why ?

“Agriculture plays a very important roie in Indian Economy.”

Justify.

Explain the political and economic causes for the first war of

Indian Independence.

OR

Explain the Jallianwalla Bagh massacre.
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VI. 38. Draw an outline map of India and mark the following :

1+4=5
a) 82 % ° East longitude
b) Kochi

c) Vishakhapatnam

d) Koyna.
Alternative Question for Visually impaired Candidates only :

( In lieu of Q. No. 38

Mention the main aims of the multipurpose River Valley projects.
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The number of zeroes of the
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(A)
©)

For an event ‘E’, if P( E) = 075, then P( E ) is

2
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N

(A)

(€ 0025
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u Ace ama 8
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ght h’ig S “Ircular eylinder having radius 7
(B) o rh
D) 2nr(r+hn)

rep[f!Se
is co nts the remainder when 19 =6x 3+ 1
Mpareq With

ucﬁ 3 it . F
d's divigion lemma a=bg+r is

B) 6

© 1 |
(D) 19

In the gj ' '
€ Blven figure, PB s o tangent drawn at the point A to the

circle with centre 0’ It AOP = 45°, then the measure of

|OPA is |
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6. In the figure, if DE || BC, then the correct relation amon
& the

following is

A
D E
B > c

AD = AE

W ==
AB EC

AD EC

B — D —
®) DB AE
AD AE

© B~ EC
DB _ AE

© %5 " EC

7. The lines represented by the equations 4x + 5y - 10 = 0 and

8x+ 10y+20=0are
(A) intersecting lines -
(B) perpendicular lines to each other

(C) coincident lines

(D) parallel lines



~—0 RF.-‘A /
2 100 3311

8. Thedj
St %
Nce of the 81-E
pﬂint ( - 8
v 3) 1

A) -8 Unitg fom the x-axis is

(B) 3 unj
= Unitg
=
=
=
= 5. ~2 unit;
= 's
=
=

(D) 8 Units
1. Answer the foll '

owing questi . :
e 8x1=8

9. Ex i
Xpress the denominator of % in the form of 2" x5™.

10. If the pair of lines represented by the linear cquations

x+2y-4=0 and ax+by-12=0 éie-coihcident]jnes, then find

the values of ‘@’ and b’
11, AABC~A POR. Area of the A ABC is 64 cm? and the area of the
2 1f AB=8cm, then find the lengtll of PQ.

A PQRis 100 cm
[ Turn over
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12. Express the equation x ( 2 + x ) = 3 in the standard form of &

TR T

13.

14.

15.

16.

quadratic equation.

Find the discriminant of the quadratic equation 2x? —4x+3= 0.

Find the coordinates of the mid-point of the line segment joining

the points (6, 3)and (4, 7).

Write the degree of the polynomial

Pr(x) =3x3 - x*+2x% +5x+2.

Write the formula to find the volume of the frustum of a cone

given in the figure.
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2
7
gx2=16

An
Swer the following questions :

LT

17,

18.

19.

20.

Show 3 & i
ow that 5 + J3 is an irrational number.

OR

Find the H.CF. of 72 and 120 by using Buclid's division

algorithm.

Solve the given pair of linear equations :

3x+y =12

x+y =6

Find the 20th term of the-Arithmetic progression 4, 7, 10, ..

by using formula.

Find the roots of the equation 2x2 - 5x + 3 =0 by using

‘quadratic formula’.

OR

—bx-2 =0 by the method of

Find the roots of the equation’ 5 x?

completing the square.
| Turn over
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21,

¢ values of sing

- In the o
1V %
Sven figure, if | ABc = 90°, then find ¢

and cos q,

9 to 19. If one

; whic
92, A box contains cards obability that it

Ly

card is drawn at random from

bears a prime number-
@

trapezium 10 which AB i G,

23. In the given figure: ABCDs & _
' = n find the
BC L DC. If AB=6 cm; CD=100mandAD—50m, the :

distance between the par_allcl lines.
‘ 6 cm A

A

10°cm C

24. Draw a circle of radius 4 cm and construct a pair of tangents to

the circle such that the angle beMeen theﬁ1 is 60°
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T

Angsye
T the followlns questions :
25, :

26.

- 27. Find the m
] ‘

2 e
RF(a;
wmm 1=
9):3"'27

Divj
1dep(x]=3_\-n+xg & OB byg(x)=xg*2x"‘land

find th .
© Quotient | g ( x) ] and remainder [rix)l

OR
2 4+ 7x+ 10,

Find
the zeroes of the quadratic polynomial p (x)=x
the coefficients.

an, : ]
d verify the relationship between zeroes and

Prove that
l+cos A
T—cosd cosec A+ cot A
OR
Prover that
208 1 +.COS A - 2 cosec A.
l+cos A sin A

ean for the following data >

Class-interval
e, L]

OR
[ Turn over
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ata !

¢
Class-interval W
| lass-interval |

6

15

i .
g-11 /

: 5ind he
line segment memg t

~ points

28. F‘md the ratlo ' in which the |

i (-4 6)
dB(3, -S)isdividcdbythepom (
A(- 6 10 ) an .

OR

i3 l _ 1 g
Find the area of a triangle whose vertices are A (1, )

B(-4, 6) and C(-3, =5)

29, Prove that “The lengths of tangents drawn from an external point

to a circle are equal”.
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80; 1,
the giVen
ﬁgllre =Y
equi » '0is the ; ;
Quilaterq) 4 . centre of a circle and OAB is 84
triangle, p
T + Y and Q ar : :
€Spectiye] e the mid-points of OA and OB
Y.
If the area of A O, : 9
& AB is 3643 cm?2, then find the
€a of the aki )
aded region. ‘ SaiO]
=
=

31. : . oy
Construct a triangle with sides 5 ¢ 6 cm and 8 cm -and then
construct anot.her triangle whose sides ar¢ % of the

ERRERE '
corresponding sides of the first triangle.

32, The distance between two cities 4’ and ‘B’ is 132 km. Flyovers
are built ‘to avoid the traffic in the intermediate towns between
these cities. Because of this, the average speed of a car travelling

es by 11 km/h and hence,

in this route through flyovers increas
e same distance than

the car takes 1 hour less time to-travel th

Find the current av

erage speed of the car.

earlier.
[ Turn over
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llowing data for distribution of
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33. A life insurance agent found the fol o
an type ogive for the

ages of 100 policy holders. Draw & “Less th
given data :
Age (in years ) Number of poliqy holders
( eunulative frequency )
Below 20 2
Below 25 6.
‘Below 30 o4
Below 35 45
Below 40 ?8
Below 45 a0
Belo& 50 55

Answer the following questions :
34. The sum of 2nd and 4th terms of an arithmetic progression is 54

and the sum of its first 11 terms is 693. Find the arithmetic

progression. Which term of this progression is 132 more than its

54th term ?

OR



N

—2A 106 e
‘\J‘% N

erms of a 3
n i are
| i ession
t ‘ et & f arithmetic progr .
: 1 i 981
€ egsion 18
vely. 1t the 20th term of the progr

last
um of the
then find the arithmetic progression. Also find the s

10 termg of this progression.

i y
the [V i linear equations
. ‘ : given pair of | b

graphical method :

S ar 3
3 .
(
.

Pr .
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A)/1 Y S“—ctchc,d and tied from, o
a I-Opc is Lig
37. In the given 1847 he s8¢ jevel ground such
L
a peB on
top of & vertical pol toal |
and the angle made by it with
o 20 M ;
the length of the roP€ is 2 |
¢ climb the 0P reaches the top of
ground is 30°. A circus t1s ,
an le of el .
o the pole and from there he observes that the ans l evatioil
= : is found to ,
= the top of another pole on the same.gro_und : be 60°. I
= | ;e
= the distance of the foot of the longer pole from the peg is 30 m,
then find the height o this pole: (T2 J3 =173)
| c
A 60
E
o5
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Answer t 5 eeEwr)
fnuowln
E Question ; % 'ﬁﬁs‘é 1x8=5

A w,
Oode
N solj
solid toy {
Y 18 made by mounting a cone on the circular

base
of a hem;
m
1sphere as shown in the figure. If the arca of base of

th
c Cone is 38.5 sz
and the total height of the toy is 155 cm,

t_hen ﬁ.l’l
d the total surface area and volume of the toy.

A
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